TH2EEERIEFALGR

BALE TE ()% IEEHET | L | SRER miLE AHF %
4228 |ROTHTERRE2HTE R T RET A 534,500,000|  508,000,000| & BRI xR X =4t — %
4A278 (PRIMREEEEE HERESTER2-1) A TR ET Hh A 11,637,000 10,173,000 #k X =t K% —
4R278 |AFAREFRFTENEDHEIE RETER A 71,800,000 66,390,000 (¥R X =41 ISR — %
4A278 (RIEREFRARHFRIERI—14) RETE MR 9,278,000 7,422,000\ 1=F AKX &4t — %
5A278 | EBHXRIHE(R2—1) FAMEILBNR 11,916,000 10,452,000| ¥k X =414 E TH5 )5 —fig
5A278 |AlEMERIE(R2—1) REHESHA 6,122,000 5,341,000| 4k X £t D54 — %
5A278 (AN FRABTERBRENMEERETSE MRARMA 125,700,000 123,000,000 E#]1 T ##% K &4t —
5A278 (BRI ERE—REMLBETIE RAMAR A 87,790,000 81,052,000 FEEBXHAZHRAEEN — %
5A278 |RBHEREREENLBETS FRATILE A 65,220,000 59,900,000|iF D2 MR X =4t — %
5278 |BRB/NERRV/NBENERTANINRELS FERTEBET AT 8,649,000 7,983,000k X1t A LD —
5A278 |A# TKEERHEBEE(R2—255K) A TN EH 25016000( 20,012,000 *jf\tff;}g”mﬁ:"w”’v —f8
5278 |AHTKEERTFHERTE(R2—175K) FEATE LRI 15,707,000 12,943,000 ﬁgg%%_t‘y:"ﬂ”’g"‘ — %
5A278 (EE/NERIGBIEER I EHRIAFRHERER FRAT/NETEM A 10,874,000 9,800,000 = A —#R I E L EHAT — &
5278 |REAREBERIE(R2—1) raheE 9,661,000 9,500,000(#k X = BIpHF EL B IE — %
6A108 (EREBERMLREIS RATTFEHA 13,300,000 12,300,000 E 0B H A =4t —
68108 |JIAENERFFEAREEIRFERELSE AT RERMBA 22,440,000 20,690,000| kX =1 EIREH — %
68108 |JIAL/NERKFERNFRERBRRIETSE AT RERMBA 11,000,000 10,350,000\ B R+ & [RKE T HE — %
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BALE TE ()% IEEHET | L | SRER miLE AHF %
65108 |[BRASAREENMIAIERIEBER FEATILR A 2,196,000 1,840,000|nob—#R 2 E L E AR — %
68248 [RAT/KEEREE MZASHKISENo 2E/K M EwE-FUETE e T R A 254,470,000 197,800,000 ﬁ%g%i?ﬁﬂaﬁlﬂlﬁ —
6A248 [A#TKEEMHRIE(R2—675K) e ERHmA 45,417,697 40,274,000\ NEEHHR X =1L — %
68248 | AHTKEEMRIE(R2—15K) A T A 24,580,000 21,731,000\ XS FEAITHIE — %
6H248 | EBRXRIE(R2—6) RATRHET A 5,620,000 4,901,000(#4f X £ D5+ —fig
6R248 |[HEBH#EIER2—1) RATBEESHA 10,298,000 8,975,000\ XSt NHEEHRIT ¥ — %
6F24H (BEZILSPSEOHFENYEXBEERT e R T Hth 1,184,000 956,000| #k X L HT H R I R — %
6A248 [EBRAREEFEHRT RETAEE 19,766,000 16,500,000 FAFIME X 4LIRA E A — %
68248 |BIEREHRFFEHERITE(R2—-1) RABHAEXBHAITA, 11,738,000 9,390,000 #k X =+ K¥ — &
68248 |REREHRIFEXBEREITL(R2—3) RRTHEBPHAIFH 10,274,000 8,220,000| (kX 4L FAFEI L Y ILEU — %
68248 |BIEREHRFFEBERITE(R2—-2) EATLEHEHRA 8,856,000 7,084,000 1=FAIEHRR R4t —
6A248 [AMOTEEERATLREREEE RERFEBRR(2-1) FehEB-KARA 6,402,000 5,121,000( 1 =F Bl @Mk x4t — %
68248 |7 E/NERRERFEIFHRIEBE EAT LEHEHA 4,102,000 3,495,000\ (kX = BT BAFEHILEU b — &
68248 |BRE—LSE-/N\ELAREHESBFEIRHRIEBERR RBTM T FEtHA 2,245,000 1,840,000 kXS4 H BRI YL R b — %
6A248 [EREHMAREBEE(R2—1) RATLHE 18,197,000{ 14,557,000 gggéigbgpi‘ﬁﬁﬁﬁ — 3
6A248 (BREHRBREBERFL(R2-3) rutheE 18,092,000 14,473,000 #k X EH KIFHEXE — %
6R248 |BRAEHPRBREHERIT(R2—2) reheE 15,682,000 12,545,000 RASHFRBEIFILIA — %
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BALE TE ()% IEEHET | L | SRER miLE AHF %
6F248 |RATERAMBERAERBER RAETAEE 7,721,000 6,480,000|F B F MR S HIFEXE —fi&
68248 [RAT—UnR—UREIERFEBEH RRHESHmRA 2,687,000 2,179,000(nob— R E LT EH5FT —
6248 [fEEXILRET7F_RMEKFEERIEINBUETERAEBE RAT/ETEMRA 1,816,000 1,580,000| H R =4tk R B RETEHAT — %
7TR8H |AH£TKEEMRIE(R2—5/5XK) RATRA A 65,188,000 57,830,000\ kX MEER T X — %
7TA8H |AH£TKEEMRIE(R2—45XK) RETHRAHA 62,214,000 54,600,000| A R B XK =4 —
7A8H |AH£TKEEMRIE(R2—3IEK) RATRE A 49,422,000 39,000,000| A R B XK 4 —
7A8H |AH£TKEEMRIE(R2—2/5XK) RETREHA 43,962,000 39,834,000k X &4t B AT ) — U RE — %
TH8H |FRATMKESEX EKEMREISE(EH2—2IK) RAMEKBHAEM, 31,850,000 28,335,000 4k X =R KL K — %
7TA8H [RAT/KESEX BEKEHAXEISE(EH2—-3IK) f@?ﬁﬁ%ﬂnﬂﬁﬂm& 26,800,000 23,804,000 #k X = K% — &
TA8H |RATMKESER® EKEMREISE(EH2-1IK) RRTEHHBA 19,330,000 17,113,000 R4 REEK — %
7A8H |EHMHRIE(R2—3) e R A 9,169,000 8,023,000( HR &= K EFE B — %
7A8H |EHWHRIE(R2—-5) RETHESHHAITH 4,983,000 4,353,000 R NFERE LA — %
7A8H |[EBHRIHE(R2—-7) FEAm AN 2,081,000 1,886,000\ F R =+t Z 5548 — %
TA8H |NIAPEREFEBZENBEFELIS RATHEPHHA - - ik — &
TRA8H |HHHBEARBGARESRELE R TR BET A 9,322,000 8,395,000| kX EEEESR —
7RA8H |BIEHRFFEHERIT(R2—4) FuhrEmA 8,367,000 6,693,000 #k X =+ K¥ — %
7TR8H |EEFIMEEEREEZEX BY-WHARTREXRBRAR2-1) |REHEFFHBA 2,260,000 1,808,000| kX = E MR HILEUH —
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BALE TE ()% IEEHET | L | SRER miLE AHF %
7A228 |[RATKERE BEAKEASEISE(EH2-6IK) ﬁﬁﬁﬁﬁwjgﬂm 58,120,000 48500000\ X R NAEH T % — g
TA228 | RATKESEE RAKEAZKBEIF(EH2-51IK) ﬁﬁfﬁiﬁm3TEiﬂm 57,890,000 49,200,000\ ik X = +L#7 H TH5 5 — %
7RA228 [EBHRRIE(R2—4) MRERMA 13,476,000 11,835,000 #k X R4 KHK — %
7RA228 [EBHRRIE(R2—8) B Th/NETE A 10,682,000 9,358,000 Fik A =4t — %
7A228 [EBRHRIE(R2—9) RAMTFEHHA 10,227,000 8,961,000/ ARE=#/IMHELETE —Hh&
7TR228 |HEEBH#EIE(R2—2) R4 T RE) &R Hh P 10,186,000 8,886,000 4k X+ FHH LT X — %
TA228 |HEBREEIELIE (5FR) RATERTA 131,500,000|  124,480,000(#k X &+t FUEE R — %
7TA228 (AHPRMRLEHEFEN. 1o SR EEERE RBTAMEMA 6,650,000 6,330,000\ I A B TR KA 4L — %
TR228 | 2#TKEERFTFHERTE(R2—375K) RAMEFEFHAZH, 21,216,000 16,972,000( HREHT —FTVIKE — &
TA228 |MEREXFERT(RAE40) RAEMKRBHA 2,390,000 1,960,000\ AREH IR 71 TZ0 =0T —fi&
8A5H |FATM/KEE%E XERKEMREBEIETEEEH2—1) RATHREFHA 96,150,000 83,500,000 Bk X =+ Ei K T# A — %
8ASH |RAM/KEERE EKEAREIE(E#H2—-13IK) RB ity SR 51,020,000 42,210,000 (B BRH A — %
8ASH [REREZRHKEBERI KSR IHXEIE(IRX) RATRAHA 62,040,000 57,180,000| (kX =t K &4 — %
8A5SH [HE#H10SHERBRRIE(ZNAS) RERmARBAFH 57,685,000 51,368,000| ik X+ MHAER T X — %
8ASH |RAT/KEER ERAKEAREISE(EH2—-15IK) A TARHA 39,950,000 35,634,000| NHE X =1t —
8ASH |RAT/KEERE ERKEAREIE(EH2-12IK) FATILATH A (F A 37,930,000 33,817,000| kX =t KA H# — %
8A5SH ([EXFFIHMREREERERX ERIE(R2—4) RETEFFHA 17,052,000 11,936,400( AR =LA H L2 — %
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BALE TE ()% IEEHET | L | SRER miLE AHF %
8A5H [lLBYRSERELE(ZMDS) FuhREth R 11,769,000 10,335,000\ E PR+t K ¥ i Bl — %
8A5H [EBMHRIE(R2—10) FEATARMA 7,185,000 6,267,000| 4k X =L 7=~ —
8ASH [RAMKEEREX HEAEIRIZ(E#H2-3IRK) RATHBE AT 36,950,000 32,916,000\ ik XS+ # H+ THIE — %
8ASH [RB/TI—NR—IRETIE RETESHA 34,610,000 32,210,000| A PR &= 41 1 AT 3% fi% — %
8A5H |[EFEAEFWEIERNEBER FERTBRMmA 4,329,000 3,540,000 | #k R — #R B L T F A — %
8A28H [ERPRIE(EEICARAHETERKR) EATRIIHAIEL 98,477,000 88,644,000| ¥k X =41 #RK —fi&
8A28H |ERME MEMARIE(FEEBIIR) Rehe bR 52,959,000 46,877,000\t BB ME X =4t —
8A28H |RXEEHKERERIKBMR IFETE(2IR) RBTRAHA 50,380,000 45,500,000 kX =4t BRIF L 32 — %
8A28H [RAMKEEX RAKEMXBEIF(EH2—14IK) R TR RIFH - - Tk —
8A28RH [AIEHFEIE(R2—1) ERTF HFt A 27,492,000 24,326,000|iE DR MR 21t —
8A28H |RAMKESEX HEAEHIHE(EH2-1IR) é?mﬁﬁm—raiﬂm 47,130,000 41,918,000/NAEF A 21 —
8R28H |MEEHETIE(R2—3) FAT/NETE A 19,155,000 16,824,000 #k X =+t ¥ LS — %
8A28H |HEEHEIE(R1—6) RETARMA 10,494,000 9,167,000 #k XL KK — %
8A28H |HEEHEIE(R2—4) FEATARMA 9,468,000 8,245,000\ H IR & +1 K Fp i f — %
8A28H [ERHRIE (TEEICHL =t X ELER-£D2) RRTRAMA 25,905,000 22,835,000| AR =t B — %
8A28H [EHRHEIE (EEICH =it X EDEE - ZD3I) RAATKEA 25,329,000 22,359,000| 4k X =4t PIREEER — %
8A28H [RAMKERX EKEMKBIE(EHF2—-10TRK) RATE AT A - - Tk —
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8A28H |ERHRITE (AL RERDERER) RAHEFFHA 19,999,000 17,655,000 Fik %KX &4t — %
8A28H |PRIMREEEEE HRESTIE(R2—-2) RETRAETHA 12,927,000 11,309,000 #k X = #L K% —
8A28H [EWHRIE(R2—11) A THIRREA 8,299,000 7,261,000 #k XKL~ — %
8A28H |AHXTKEEMHRIE(R2—775K) RAMEFFHA 2,845,000 2,730,000 HERE=HRBVHF 1L —
8A28H [RAT/KEEX ERE_EKEERNERHEEEHISE RemREEHA 54,400,000 51,800,000| f XV T MEEXIE — %
8A28H |BRIRAREENEE DT —EBHKIINBUETISE RAEMARMBA - - TR — %
8A28H |EFFLMREEREERX BY-MUHFAEREERRIE(R2—-2) |RETEFFHA 8,755,000 7,004,000 H R4 KFIIRAIE —
8A28H |[EFFIMREREEE BV -MUHREBEXRBERA(R2-3) |[RAMEEFFHA 1,624,000 1,299,000\ kX4t V< MAERIEKE — %
8A28H |MEBEERERBRT raheE 7,664,000 6,420,000 EfF R X S H EXE — %
9R9B [BEREZRKEBERITBMX HETE FAhRB IR 32,720,000 32,340,000| %k X =11 &K — %
9898 [FATKESRX RAKEAREBEIZ(2-1IK) RBTRAHmA 30,710,000 27,391,000\ Bk X = #1 £ 7K — %
9A98 |RB/TKEEE ERKEAREIE(EH2-17IK) R TTHE PR 20,470,000 18,081,000| AR RES — %
9A9R |[EBRBRIH(R2—12) FRATKEMA 9,212,000 8,069,000| ¥R X =+ T H Fk 32X — %
9A98 [EBHRIE(R2—14) FERTREET AT A 4,945,000 4,310,000 fE R EEMHA 1L —
9R9B [RATMKEEREX HEAERIZ(E#H2-2IRK) FEATILE A IF A 59,360,000 52,933,000| MK =1t —
9898 [FATHKESRX MBAKSEHRIE(BEIR) A TRENH A 245,090,000( 192,900,000 D HH X A+t —h&
9A98 |AFRBEEENRETSE RETEARMA 7,763,000 7,600,000\ RS+ 4% )12 5L — %
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BALE TE ()% IEEHET | L | SRER miLE AHF %
OR9E |MIBBEHEHET ot FA/KMEIEAT E- B16) EATHIZIHA 5a58000 4686000 E T I NAXINTATRAR | g
9A9R |HMEAEXBRIERAEALT) RAEMKRBHA 3,005,000 2,405,000| ¥R X & #1175 )R b B ¢ —fi&
9A25H [SEREIE(R2—1) RATEAHAIZH, 35,395,000 31,357,000| 4k X+t K& #E — %
9A25H [EBRHRIE(R1—20) RBTHEAF A 19,982,000 17,597,000 F 2Rk A 4t — %
9A25H ([EFFLIHREREERX HREETIER2-1) RATEFFHA 19,812,000 17,489,000\ H HEBEH A —
9A258 |AlEMHRITE(R2—2) R THTaEMmA 18,589,000 16,373,000| kX &4t #hiE T /E — %
9A25H |EBHRIE(R2—15) RAM T FEHHA 15,397,000 13,518,000( R &L [ FH L2 —fi&
9A25H (fEEICHmtREKERRIE(2—1) RETRBMA 9,150,000 8,079,000/ A FrEEM A4 — %
9A25H [EBHRIE(R1—21) FRAMSRA 7,453,000 7,200,000| kX & D5 — &
9A25H [EBRBRIE(R2—13) RETEFFHA 6,340,000 5,526,000| &% EHEEK A4 —
9A258 |N\EARESAMNEIT7IVRELSE RAT T FEHA 16,090,000 15,300,000\ B R =4L)I| B T 5% % — %
9A25A |RERBHMRENMLEREERRHFERETSE RAETRERMBAIZH 18,060,000 16,800,000 /I AH B TR %X 4L — %
9A258 (IAAREFEARERIETE RATEBHA 7,124,000 6,600,000 #k X+ IUIRESR — %
9A25H |hRIMREBEEE EY-YHREBEXBEIR2-1) FERTRAETHAIT A 6,279,000 5,023,000 F > HIL A Y E RS —
9A258 | KEMMERAERBET AL A 4,370,000 3,808,000| /1t H#k X 24 ILBIR IS — %
10A78 |FREIMEXEEEEEX SHREEIF(R2—3) FERAT{HETH R E A - - 5 — %
10A78 |FBMKESER EKEMXELSE(EH2-7IR) AATRIAST B 1K 53,810,000 47,978,000| X BAT -V 1E — %
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10A78 |RATMKEREE EKEMRKEIE(EH2—-18IK) RATRBEHmRAIEH 40,760,000 36,244,000|fEEZ X =1L —fi%
10A78 |RATHKESEE EKEMRKEIE(EH2—-14IK) FRA AR F H 38,720,000 34,421,000 fEERE /A 1L —
10A78 |RATHKEEE EKEMRKEIE(EH2—10IK) FERTEAIEL 22,730,000 20,094,000 Mk X =4 R TR — %
10A78 |RATHKEEE EKEMREBEIE(EH2—9IR) RATIERENI T B 19,710,000 17,400,000( B PR =411l S T 5% 1 — %
10A78 |[RATMKEREE EKEMREIF(BE2—2IR) FATTHE A 9,060,000 7,977,000 FH R &4 FZIEE — %
10A78 [RATKEEX FI5KEKPTLEMASRAEEHKZRR RAMREHA - - IR —h%
10A288 |REXEEHKERERIAAAMK ITETE RBTRAHAITH 27,490,000 24977000\ %k X= 1 ERIF T2 — %
10A28H [RAT/KEEX RAKEMRBEIE(EH2-8IK) FamLEEH AR 21,140,000 18,675,000| 4k XKL KH — %
10A28H [(EHHRITHE(R2—16) RAT/NAETHERA 19,111,000 16,824,000| FREZM R R4t — %
10A28H [(EBHXRIE(R2—21) FERWRIImEA 16,717,000 14,705,000 FREZH A =4t —
10A28H [[EMHXRITE(R2—20) R TREN A 15,507,000 13,626,000 #k X =+ K% —fi&
10A28H [(EHHRITE(R2—19) RBTHRZRRBA 10,771,000 9,445,000 BRI/ EIET R — %
10A 288 EBHXRIHE(R2—17) RBHRKAA 7,649,000 6,681,000| &k Ef¢EZZH A+ — %
10A28R |MAIERATIE R T PHET A 23,207,850 16,980,000 (#k X &L K% — %
10A28H (PRIMREREEERX BY-MUHRAEREEHRTE(R2-2) RATRAETHAIT A 8,228,000 6,582,000 #k X =L K¥ — %
11H2608 |EKKR RIS (EEICHL & th X E D E R AIE#H %) FRATKEBAIFA 89,825,000 80,240,000| AR R B MR X =4t — %
11A268 [BRE—RBSE-/N\ELAREEHESERIE AT T FEtmA 40,253,000 36,165,000| kXK KL K — %
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BALE TE ()% IEEHET | L | SRER miLE AHF %
11A26H [FATKESX RKEMRBEISE(EH2—4IK) RAHEFFHRAIFH 28,310,000 25,096,000(iFDEEEHA 4L —
11A26H [(EBHXRIE(R2—18) RATHEBHA 11,070,000 9,704,000| ¥R X =+ KK — %
11A268 | ERETE(R2—2) RBHRs 1A 9,056,000 7,926,000{E R EZHRH K=+t — %
11A26H [EBHRITE(R2—22) RemEKEEHA 5,902,000 5,142,000| EREH RERH T — %
11A268 [#EE#EIE(R2-5) RATAEHA 5,536,000 4,814,000 EfFtZE KA =1t —fi&
11A268 |REREZH/KLERR THMX HERHFIE RAhRB IR - - IR —Hh&
11A26H [t BYRSERELE(ZD9) R TREN R 37,559,000 33,354,000\ kX MEERT X — %
11A26H [hREMREREEERX ETKEEMRIE(R2-1) RBTHRAETH A 5,889,000 5,150,000 H R &+ R IEE — %
11A268 [SEEZILSSTEDHAMEE RehRBEHA 1,975,000 1,913, 000| BR S AFER L K — &
11A268 [#HEE#EIE(R2—6) RATREER A 24,198,000 21,331,000 XS BRI -V E —fi&
11A268 [HEAEIHTE(R2—1) RBTRAHmA 12,791,000 11,190,000| 4k X+t NHEEHR T ¥ — %
11A26H [FHE#HHTE(R1—7) FERTEHAIEL 4,692,000 4,087,000| SR EHZHK A4 — %
11268 |H&E#HHZRITE(R1—-8) RBTMRKBHAE, 3,287,000 2,855,000(fE K EHZH A4 —
11A268 [#HE#HHITE(R1—9) FEamaltriEs 3,139,000 2,732,000| ERE KERR T X — %
11A268 [HEAREIHLE(R2—-2) RAEMREItA 2,921,000 2,535 000|fE R EZHZH A=+t — %
11A268 | REHHEEMSEEZAMKITIVERETLSE RA T HET A E A 14,270,000 13,400,000 % 5LV KEH K =41 — %
12168 |MRIMREBEEE LTKEEHAKIER2—-2) RATHESHETHAEH, 31,667,000 27,951,000\ kX #F LSRR — &
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12A168 |1BRMHEEIE (RESEE1IRX) FuhREth R 23,769,000 21,625,000\ F AR XS4t — %
12A16H [FATKESRX RAKEMRBEIZ(BE2-1IK) R TTHE P A - - Tk —
12R168 [SEHRETE(R2—3) RAHEHRA 8,461,000 7.412,000| %X &# D5 — %
12168 |[RAT/KEEFEE BRKEMREIF(2-4IK) RE TR A 3,390,000 3,040,000| kX =D B — &
12R168 [RAT/KEEX HARREIER2-1IK) RemREEHA 1,740,000 1524000 B EEEK A= —
12R16H [RAT/KEER H84SKREMESRTIE ERTEFFHN 2,060,000 2,000,000 #k X RSKR TEARE XA — %
1R188 [A#TKEEMHRISE(R2—IMK) FEAT/NETHEMA - - AR — %
1A188 |FAT/KEER BEKEMKBIF(2-2IK) R TTRET H P F A 24,820,000 22,714,000 Frig @A &4t — %
1A188 |EEFLHREREEER AEERIE(R2—1) RAMEFFHA 20,725,000 18,390,000( AR =L [ F L 32 — &
1A188 |AEHRZRBEITE(R2—-1) FahmLEH AR 12,823,000 11,153,000 I EH R4t — %
1188 [RATKES% RKEARXSEIE(EE2-1IK) FATHEPHA 8,650,000 8,000,000| kX &= K%K —h&
1A188 |EXFFIHREEEEEX HEERIE(R2—1) RAMEFFHBA 3,333,000 2,333,100 fEREZM A S+ — &
1188 (MEEMEEE25HEAIE RAmRE AL A 10,460,000 7,600,000[7k HE MR =4t —h
1A188 [RIE2X#EZF(R2-5) ROTRBHETHBA 2,223,000 1,778,000\ ¥ 1YL A VB R =1 — g
1A278 [RATIRALEEHFLISE FATHEAMA 398,245,000|  319,800,000(#% K=t KA — &
1A278 |RBTORANEEEHEEIS FATMEBAMA 133,100,000  110,000,000|7k HEEZ#H XS4t — %
18278 [FRTIAEERZELIS RATHEAMN 76,784,000 59,000,000| s X =t EEEER — &
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BI4LE THEE % TH (£ B G | G EALE AT
18278 |BaTS5ANEEHEIE FEATMEHTA 18,873,000 12,470000| kKXt ERER — %




